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asn-—+w, foreachszeH. For example,
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Inarcund 95 % of samples of large n the populationmean
uwill be enclosedwithin the 95 % confidence interwval
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asn-s>w, N-n +w, foreachze k. For example,
n==600samples without replacement
populationof W = 7000

N-n T000 - 600
N-1 7000 -1

= 0.9568251<—=— FPC

vitrually no change from samplingwith - replacement.




Soa 90 ¥ CI basedupon asamplecfn Hfroma NORMATL

population would be X +2.776
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for independent samples of repsective sizesn;, n; respectively.




for independent samples of repsective sizes ny, n; respectively.




